
Free Plans by                     /   Mazay DIY                                                                           1                                                                                              3D model  |  Video Tutorial + Part 2 
 

Homemade Woodworking Lathe Machine | Plans 

   

http://www.youtube.com/channel/UCdDDul0pcSpn6fP0jHhJFjg
https://grabcad.com/library/homemade-woodworking-lathe-1
https://youtu.be/rKOuUsFGhy8
https://youtu.be/q5NkMmxd_YE
https://mazaydiy.com/


Free Plans by                     /   Mazay DIY                                                                           2                                                                                              3D model  |  Video Tutorial + Part 2 
 

 
 
 

 

 

     
   
 
      Lathe parts dimensions: 

 
Lathe bed................................................................................. 3 

Lathe Tailstock ...................................................................... 18 

Tool Rest ................................................................................ 38 

 

 
      Fasteners and Materials: 

 

1. Bolt M8 x 100 x 2 
2. Bolt M10 x 100 x 1 
3. Flat Fender washer M10 х 13 
4. Flat Fender washer M16 х 1 
5. Frame anchor bolt M10x130 х 6 
6. Locknut M10 x 12 
7. Nail 
8. Nut M8 x 4 
9. Nut M16 х 5 
10. Nut M24 х 3 
11. Stainless steel tube 10x1, L=70 мм x 2 
12.  Steel strip 3 х 25 х250 
13. T-nut M10 OR Coupling nut M10 x 1  
14. Threaded rod M10, length=(90 x 6)=540mm 
15. Threaded rod M16, length= (325+215)=540mm 

16. Threaded rod M24, length= 350mm 

17. Tube 1’’ (Nipple Pipe Fitting), L=150…160 mm 
18. Wood Screws 3.5x19 
19. Plywood 10 mm OR  12 mm 

20. Plywood 18 mm or 20 mm 

21. Lumber 40×100 mm 

 

      Headstock spindle: 
 

1. Shaft Ø35 mm, L=550mm 
2. Bearing Pillow Block options: 

a. SKF SYJ 40 KF х 2 

b. SKF UCP207 х 2 

  

http://www.youtube.com/channel/UCdDDul0pcSpn6fP0jHhJFjg
https://grabcad.com/library/homemade-woodworking-lathe-1
https://youtu.be/rKOuUsFGhy8
https://youtu.be/q5NkMmxd_YE
https://mazaydiy.com/
https://amzn.to/3dVF34D
https://amzn.to/3eBa68t
https://amzn.to/3ti2tbb
https://amzn.to/30F6J8v
https://amzn.to/3bM6crm
https://amzn.to/3qK9C2i
https://amzn.to/2RaREXY
https://amzn.to/3rNpDFU
https://amzn.to/3eCrlGE
https://amzn.to/2y9XkuZ
https://amzn.to/3bYaOIj
https://amzn.to/38BGoMR
https://amzn.to/38BGoMR
https://amzn.to/2JSatL7
https://amzn.to/2OlNbn5
https://amzn.to/2yooVbE
https://amzn.to/2V18t8G
https://amzn.to/2yITZD7
https://amzn.to/3bIW3vG


Free Plans by                     /   Mazay DIY                                                                           3                                                                                              3D model  |  Video Tutorial + Part 2 
 

Lathe bed                                  

http://www.youtube.com/channel/UCdDDul0pcSpn6fP0jHhJFjg
https://grabcad.com/library/homemade-woodworking-lathe-1
https://youtu.be/rKOuUsFGhy8
https://youtu.be/q5NkMmxd_YE
https://mazaydiy.com/


Free Plans by                     /   Mazay DIY                                                                           4                                                                                              3D model  |  Video Tutorial + Part 2 
 

http://www.youtube.com/channel/UCdDDul0pcSpn6fP0jHhJFjg
https://grabcad.com/library/homemade-woodworking-lathe-1
https://youtu.be/rKOuUsFGhy8
https://youtu.be/q5NkMmxd_YE
https://mazaydiy.com/


Free Plans by                     /   Mazay DIY                                                                           5                                                                                              3D model  |  Video Tutorial + Part 2 
 

http://www.youtube.com/channel/UCdDDul0pcSpn6fP0jHhJFjg
https://grabcad.com/library/homemade-woodworking-lathe-1
https://youtu.be/rKOuUsFGhy8
https://youtu.be/q5NkMmxd_YE
https://mazaydiy.com/


Free Plans by                     /   Mazay DIY                                                                           6                                                                                              3D model  |  Video Tutorial + Part 2 
 

http://www.youtube.com/channel/UCdDDul0pcSpn6fP0jHhJFjg
https://grabcad.com/library/homemade-woodworking-lathe-1
https://youtu.be/rKOuUsFGhy8
https://youtu.be/q5NkMmxd_YE
https://mazaydiy.com/


Free Plans by                     /   Mazay DIY                                                                           7                                                                                              3D model  |  Video Tutorial + Part 2 
 

http://www.youtube.com/channel/UCdDDul0pcSpn6fP0jHhJFjg
https://grabcad.com/library/homemade-woodworking-lathe-1
https://youtu.be/rKOuUsFGhy8
https://youtu.be/q5NkMmxd_YE
https://mazaydiy.com/


Free Plans by                     /   Mazay DIY                                                                           8                                                                                              3D model  |  Video Tutorial + Part 2 
 

http://www.youtube.com/channel/UCdDDul0pcSpn6fP0jHhJFjg
https://grabcad.com/library/homemade-woodworking-lathe-1
https://youtu.be/rKOuUsFGhy8
https://youtu.be/q5NkMmxd_YE
https://mazaydiy.com/


Free Plans by                     /   Mazay DIY                                                                           9                                                                                              3D model  |  Video Tutorial + Part 2 
 

http://www.youtube.com/channel/UCdDDul0pcSpn6fP0jHhJFjg
https://grabcad.com/library/homemade-woodworking-lathe-1
https://youtu.be/rKOuUsFGhy8
https://youtu.be/q5NkMmxd_YE
https://mazaydiy.com/


Free Plans by                     /   Mazay DIY                                                                           10                                                                                              3D model  |  Video Tutorial + Part 2 
 

 
Fasteners: 

• Threaded rod M10, length=90 mm x 6 
• Locknut M10 x 12 

• Flat Fender washer M10 х 12 

• Frame anchor bolt M10x130 х 6 

http://www.youtube.com/channel/UCdDDul0pcSpn6fP0jHhJFjg
https://grabcad.com/library/homemade-woodworking-lathe-1
https://youtu.be/rKOuUsFGhy8
https://youtu.be/q5NkMmxd_YE
https://mazaydiy.com/
https://amzn.to/2JSatL7
https://amzn.to/3qK9C2i
https://amzn.to/3ti2tbb
https://amzn.to/3bM6crm


Free Plans by                     /   Mazay DIY                                                                           11                                                                                              3D model  |  Video Tutorial + Part 2 
 

http://www.youtube.com/channel/UCdDDul0pcSpn6fP0jHhJFjg
https://grabcad.com/library/homemade-woodworking-lathe-1
https://youtu.be/rKOuUsFGhy8
https://youtu.be/q5NkMmxd_YE
https://mazaydiy.com/


Free Plans by                     /   Mazay DIY                                                                           12                                                                                              3D model  |  Video Tutorial + Part 2 
 

http://www.youtube.com/channel/UCdDDul0pcSpn6fP0jHhJFjg
https://grabcad.com/library/homemade-woodworking-lathe-1
https://youtu.be/rKOuUsFGhy8
https://youtu.be/q5NkMmxd_YE
https://mazaydiy.com/


Free Plans by                     /   Mazay DIY                                                                           13                                                                                              3D model  |  Video Tutorial + Part 2 
 

http://www.youtube.com/channel/UCdDDul0pcSpn6fP0jHhJFjg
https://grabcad.com/library/homemade-woodworking-lathe-1
https://youtu.be/rKOuUsFGhy8
https://youtu.be/q5NkMmxd_YE
https://mazaydiy.com/


Free Plans by                     /   Mazay DIY                                                                           14                                                                                              3D model  |  Video Tutorial + Part 2 
 

http://www.youtube.com/channel/UCdDDul0pcSpn6fP0jHhJFjg
https://grabcad.com/library/homemade-woodworking-lathe-1
https://youtu.be/rKOuUsFGhy8
https://youtu.be/q5NkMmxd_YE
https://mazaydiy.com/


Free Plans by                     /   Mazay DIY                                                                           15                                                                                              3D model  |  Video Tutorial + Part 2 
 

http://www.youtube.com/channel/UCdDDul0pcSpn6fP0jHhJFjg
https://grabcad.com/library/homemade-woodworking-lathe-1
https://youtu.be/rKOuUsFGhy8
https://youtu.be/q5NkMmxd_YE
https://mazaydiy.com/


Free Plans by                     /   Mazay DIY                                                                           16                                                                                              3D model  |  Video Tutorial + Part 2 
 

http://www.youtube.com/channel/UCdDDul0pcSpn6fP0jHhJFjg
https://grabcad.com/library/homemade-woodworking-lathe-1
https://youtu.be/rKOuUsFGhy8
https://youtu.be/q5NkMmxd_YE
https://mazaydiy.com/


Free Plans by                     /   Mazay DIY                                                                           17                                                                                              3D model  |  Video Tutorial + Part 2 
 

 
 
 

http://www.youtube.com/channel/UCdDDul0pcSpn6fP0jHhJFjg
https://grabcad.com/library/homemade-woodworking-lathe-1
https://youtu.be/rKOuUsFGhy8
https://youtu.be/q5NkMmxd_YE
https://mazaydiy.com/


Free Plans by                     /   Mazay DIY                                                                           18                                                                                              3D model  |  Video Tutorial + Part 2 
 

Lathe Tailstock

http://www.youtube.com/channel/UCdDDul0pcSpn6fP0jHhJFjg
https://grabcad.com/library/homemade-woodworking-lathe-1
https://youtu.be/rKOuUsFGhy8
https://youtu.be/q5NkMmxd_YE
https://mazaydiy.com/


Free Plans by                     /   Mazay DIY                                                                           19                                                                                              3D model  |  Video Tutorial + Part 2 
 

http://www.youtube.com/channel/UCdDDul0pcSpn6fP0jHhJFjg
https://grabcad.com/library/homemade-woodworking-lathe-1
https://youtu.be/rKOuUsFGhy8
https://youtu.be/q5NkMmxd_YE
https://mazaydiy.com/


Free Plans by                     /   Mazay DIY                                                                           20                                                                                              3D model  |  Video Tutorial + Part 2 
 

http://www.youtube.com/channel/UCdDDul0pcSpn6fP0jHhJFjg
https://grabcad.com/library/homemade-woodworking-lathe-1
https://youtu.be/rKOuUsFGhy8
https://youtu.be/q5NkMmxd_YE
https://mazaydiy.com/


Free Plans by                     /   Mazay DIY                                                                           21                                                                                              3D model  |  Video Tutorial + Part 2 
 

http://www.youtube.com/channel/UCdDDul0pcSpn6fP0jHhJFjg
https://grabcad.com/library/homemade-woodworking-lathe-1
https://youtu.be/rKOuUsFGhy8
https://youtu.be/q5NkMmxd_YE
https://mazaydiy.com/


Free Plans by                     /   Mazay DIY                                                                           22                                                                                              3D model  |  Video Tutorial + Part 2 
 

http://www.youtube.com/channel/UCdDDul0pcSpn6fP0jHhJFjg
https://grabcad.com/library/homemade-woodworking-lathe-1
https://youtu.be/rKOuUsFGhy8
https://youtu.be/q5NkMmxd_YE
https://mazaydiy.com/


Free Plans by                     /   Mazay DIY                                                                           23                                                                                              3D model  |  Video Tutorial + Part 2 
 

http://www.youtube.com/channel/UCdDDul0pcSpn6fP0jHhJFjg
https://grabcad.com/library/homemade-woodworking-lathe-1
https://youtu.be/rKOuUsFGhy8
https://youtu.be/q5NkMmxd_YE
https://mazaydiy.com/


Free Plans by                     /   Mazay DIY                                                                           24                                                                                              3D model  |  Video Tutorial + Part 2 
 

 

http://www.youtube.com/channel/UCdDDul0pcSpn6fP0jHhJFjg
https://grabcad.com/library/homemade-woodworking-lathe-1
https://youtu.be/rKOuUsFGhy8
https://youtu.be/q5NkMmxd_YE
https://mazaydiy.com/


Free Plans by                     /   Mazay DIY                                                                           25                                                                                              3D model  |  Video Tutorial + Part 2 
 

 

http://www.youtube.com/channel/UCdDDul0pcSpn6fP0jHhJFjg
https://grabcad.com/library/homemade-woodworking-lathe-1
https://youtu.be/rKOuUsFGhy8
https://youtu.be/q5NkMmxd_YE
https://mazaydiy.com/


Free Plans by                     /   Mazay DIY                                                                           26                                                                                              3D model  |  Video Tutorial + Part 2 
 

http://www.youtube.com/channel/UCdDDul0pcSpn6fP0jHhJFjg
https://grabcad.com/library/homemade-woodworking-lathe-1
https://youtu.be/rKOuUsFGhy8
https://youtu.be/q5NkMmxd_YE
https://mazaydiy.com/


Free Plans by                     /   Mazay DIY                                                                           27                                                                                              3D model  |  Video Tutorial + Part 2 
 

 

http://www.youtube.com/channel/UCdDDul0pcSpn6fP0jHhJFjg
https://grabcad.com/library/homemade-woodworking-lathe-1
https://youtu.be/rKOuUsFGhy8
https://youtu.be/q5NkMmxd_YE
https://mazaydiy.com/


Free Plans by                     /   Mazay DIY                                                                           28                                                                                              3D model  |  Video Tutorial + Part 2 
 

 
 

Fasteners: 

• Threaded rod M16 

• Nut M16 х 2 

• Nut M24 х 2 
 

 

http://www.youtube.com/channel/UCdDDul0pcSpn6fP0jHhJFjg
https://grabcad.com/library/homemade-woodworking-lathe-1
https://youtu.be/rKOuUsFGhy8
https://youtu.be/q5NkMmxd_YE
https://mazaydiy.com/
https://amzn.to/3rNpDFU
https://amzn.to/3eCrlGE


Free Plans by                     /   Mazay DIY                                                                           29                                                                                              3D model  |  Video Tutorial + Part 2 
 

 
 

Fasteners: 

• Nail 

http://www.youtube.com/channel/UCdDDul0pcSpn6fP0jHhJFjg
https://grabcad.com/library/homemade-woodworking-lathe-1
https://youtu.be/rKOuUsFGhy8
https://youtu.be/q5NkMmxd_YE
https://mazaydiy.com/


Free Plans by                     /   Mazay DIY                                                                           30                                                                                              3D model  |  Video Tutorial + Part 2 
 

http://www.youtube.com/channel/UCdDDul0pcSpn6fP0jHhJFjg
https://grabcad.com/library/homemade-woodworking-lathe-1
https://youtu.be/rKOuUsFGhy8
https://youtu.be/q5NkMmxd_YE
https://mazaydiy.com/


Free Plans by                     /   Mazay DIY                                                                           31                                                                                              3D model  |  Video Tutorial + Part 2 
 

 
 

http://www.youtube.com/channel/UCdDDul0pcSpn6fP0jHhJFjg
https://grabcad.com/library/homemade-woodworking-lathe-1
https://youtu.be/rKOuUsFGhy8
https://youtu.be/q5NkMmxd_YE
https://mazaydiy.com/


Free Plans by                     /   Mazay DIY                                                                           32                                                                                              3D model  |  Video Tutorial + Part 2 
 

  

 

Fasteners: 

• Nut M24 

http://www.youtube.com/channel/UCdDDul0pcSpn6fP0jHhJFjg
https://grabcad.com/library/homemade-woodworking-lathe-1
https://youtu.be/rKOuUsFGhy8
https://youtu.be/q5NkMmxd_YE
https://mazaydiy.com/
https://amzn.to/3eCrlGE


Free Plans by                     /   Mazay DIY                                                                           33                                                                                              3D model  |  Video Tutorial + Part 2 
 

http://www.youtube.com/channel/UCdDDul0pcSpn6fP0jHhJFjg
https://grabcad.com/library/homemade-woodworking-lathe-1
https://youtu.be/rKOuUsFGhy8
https://youtu.be/q5NkMmxd_YE
https://mazaydiy.com/


Free Plans by                     /   Mazay DIY                                                                           34                                                                                              3D model  |  Video Tutorial + Part 2 
 

 

http://www.youtube.com/channel/UCdDDul0pcSpn6fP0jHhJFjg
https://grabcad.com/library/homemade-woodworking-lathe-1
https://youtu.be/rKOuUsFGhy8
https://youtu.be/q5NkMmxd_YE
https://mazaydiy.com/


Free Plans by                     /   Mazay DIY                                                                           35                                                                                              3D model  |  Video Tutorial + Part 2 
 

 
Fasteners: 

• Bolt M8 x 100 x 1 

• Nut M8 x 2 
• Nut M16 x 1 

• Stainless steel tube 10x1, L=70 мм 

http://www.youtube.com/channel/UCdDDul0pcSpn6fP0jHhJFjg
https://grabcad.com/library/homemade-woodworking-lathe-1
https://youtu.be/rKOuUsFGhy8
https://youtu.be/q5NkMmxd_YE
https://mazaydiy.com/
https://amzn.to/3dVF34D
https://amzn.to/2RaREXY
https://amzn.to/3rNpDFU
https://amzn.to/2y9XkuZ


Free Plans by                     /   Mazay DIY                                                                           36                                                                                              3D model  |  Video Tutorial + Part 2 
 

http://www.youtube.com/channel/UCdDDul0pcSpn6fP0jHhJFjg
https://grabcad.com/library/homemade-woodworking-lathe-1
https://youtu.be/rKOuUsFGhy8
https://youtu.be/q5NkMmxd_YE
https://mazaydiy.com/


Free Plans by                     /   Mazay DIY                                                                           37                                                                                              3D model  |  Video Tutorial + Part 2 
 

  

http://www.youtube.com/channel/UCdDDul0pcSpn6fP0jHhJFjg
https://grabcad.com/library/homemade-woodworking-lathe-1
https://youtu.be/rKOuUsFGhy8
https://youtu.be/q5NkMmxd_YE
https://mazaydiy.com/


Free Plans by                     /   Mazay DIY                                                                           38                                                                                              3D model  |  Video Tutorial + Part 2 
 

Tool Rest

http://www.youtube.com/channel/UCdDDul0pcSpn6fP0jHhJFjg
https://grabcad.com/library/homemade-woodworking-lathe-1
https://youtu.be/rKOuUsFGhy8
https://youtu.be/q5NkMmxd_YE
https://mazaydiy.com/


Free Plans by                     /   Mazay DIY                                                                           39                                                                                              3D model  |  Video Tutorial + Part 2 
 

http://www.youtube.com/channel/UCdDDul0pcSpn6fP0jHhJFjg
https://grabcad.com/library/homemade-woodworking-lathe-1
https://youtu.be/rKOuUsFGhy8
https://youtu.be/q5NkMmxd_YE
https://mazaydiy.com/


Free Plans by                     /   Mazay DIY                                                                           40                                                                                              3D model  |  Video Tutorial + Part 2 
 

 
Materials: 

• Steel strip 3 х 25 х250 

• Tube 1’’, L=155 mm (Nipple Pipe Fitting) 

• Wood Screws 3.5x19 

http://www.youtube.com/channel/UCdDDul0pcSpn6fP0jHhJFjg
https://grabcad.com/library/homemade-woodworking-lathe-1
https://youtu.be/rKOuUsFGhy8
https://youtu.be/q5NkMmxd_YE
https://mazaydiy.com/
https://amzn.to/2OlNbn5
https://amzn.to/2yooVbE


Free Plans by                     /   Mazay DIY                                                                           41                                                                                              3D model  |  Video Tutorial + Part 2 
 

• 

http://www.youtube.com/channel/UCdDDul0pcSpn6fP0jHhJFjg
https://grabcad.com/library/homemade-woodworking-lathe-1
https://youtu.be/rKOuUsFGhy8
https://youtu.be/q5NkMmxd_YE
https://mazaydiy.com/


Free Plans by                     /   Mazay DIY                                                                           42                                                                                              3D model  |  Video Tutorial + Part 2 
 

http://www.youtube.com/channel/UCdDDul0pcSpn6fP0jHhJFjg
https://grabcad.com/library/homemade-woodworking-lathe-1
https://youtu.be/rKOuUsFGhy8
https://youtu.be/q5NkMmxd_YE
https://mazaydiy.com/


Free Plans by                     /   Mazay DIY                                                                           43                                                                                              3D model  |  Video Tutorial + Part 2 
 

http://www.youtube.com/channel/UCdDDul0pcSpn6fP0jHhJFjg
https://grabcad.com/library/homemade-woodworking-lathe-1
https://youtu.be/rKOuUsFGhy8
https://youtu.be/q5NkMmxd_YE
https://mazaydiy.com/


Free Plans by                     /   Mazay DIY                                                                           44                                                                                              3D model  |  Video Tutorial + Part 2 
 

http://www.youtube.com/channel/UCdDDul0pcSpn6fP0jHhJFjg
https://grabcad.com/library/homemade-woodworking-lathe-1
https://youtu.be/rKOuUsFGhy8
https://youtu.be/q5NkMmxd_YE
https://mazaydiy.com/


Free Plans by                     /   Mazay DIY                                                                           45                                                                                              3D model  |  Video Tutorial + Part 2 
 

http://www.youtube.com/channel/UCdDDul0pcSpn6fP0jHhJFjg
https://grabcad.com/library/homemade-woodworking-lathe-1
https://youtu.be/rKOuUsFGhy8
https://youtu.be/q5NkMmxd_YE
https://mazaydiy.com/


Free Plans by                     /   Mazay DIY                                                                           46                                                                                              3D model  |  Video Tutorial + Part 2 
 

 
Fasteners: 

• Bolt M10 x 100 x 4 

http://www.youtube.com/channel/UCdDDul0pcSpn6fP0jHhJFjg
https://grabcad.com/library/homemade-woodworking-lathe-1
https://youtu.be/rKOuUsFGhy8
https://youtu.be/q5NkMmxd_YE
https://mazaydiy.com/
https://amzn.to/3eBa68t


Free Plans by                     /   Mazay DIY                                                                           47                                                                                              3D model  |  Video Tutorial + Part 2 
 

• 

http://www.youtube.com/channel/UCdDDul0pcSpn6fP0jHhJFjg
https://grabcad.com/library/homemade-woodworking-lathe-1
https://youtu.be/rKOuUsFGhy8
https://youtu.be/q5NkMmxd_YE
https://mazaydiy.com/


Free Plans by                     /   Mazay DIY                                                                           48                                                                                              3D model  |  Video Tutorial + Part 2 
 

 
Fasteners: 

• T-nut M10 OR Coupling nut M10 x 1  
• Flat Fender washer M10 

• Flat Fender washer M16 

• Nut M16 
• Threaded rod M16, length=215 mm 

http://www.youtube.com/channel/UCdDDul0pcSpn6fP0jHhJFjg
https://grabcad.com/library/homemade-woodworking-lathe-1
https://youtu.be/rKOuUsFGhy8
https://youtu.be/q5NkMmxd_YE
https://mazaydiy.com/
https://amzn.to/3bYaOIj
https://amzn.to/38BGoMR
https://amzn.to/38BGoMR
https://amzn.to/3ti2tbb
https://amzn.to/30F6J8v
https://amzn.to/3rNpDFU


Free Plans by                     /   Mazay DIY                                                                           49                                                                                              3D model  |  Video Tutorial + Part 2 
 

 
 

 
 
 
 
 
 

All dimensions are in millimeters (mm) 
 

Other tools and jigs: 
 

DIY Angle Grinder Stand 
Drill bit organizer + Plans 

DIY Drill Press Stand + Plans 
DIY Hold down clamps + Printable templates 

 

http://www.youtube.com/channel/UCdDDul0pcSpn6fP0jHhJFjg
https://grabcad.com/library/homemade-woodworking-lathe-1
https://youtu.be/rKOuUsFGhy8
https://youtu.be/q5NkMmxd_YE
https://mazaydiy.com/
https://mazaydiy.com/angle-grinder-stand/
https://youtu.be/a9NYz42c51M
https://mazaydiy.com/drill-bit-organizer/
https://youtu.be/O6aRoxANuLI
https://mazaydiy.com/drill-press-machine/
https://youtu.be/ZXIPJDy8d-s
https://mazaydiy.com/plans/t-track-hold-down-clamps.pdf

